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Question 1
Question Type: MultipleChoice

A user has access only to the vRealize Operations Product UI.

Which component will be available when they log in?

Options: 
A- Dashboards page

B- Software Update page

C- Certificate management

D- System Status page

Answer: 
A

Question 2
Question Type: MultipleChoice



An administrator has enabled the allocation model in a policy and set the CPU overcommit ratio to 4:1 for all vSphere clusters in a

vSphere datacenter.

Why would vRealize Operations report that the cluster has 0 days remaining when the actual CPU overcommit ratio is less than the 4:1

configured value?

Options: 
A- The allocation model will always report zero remaining capacity when the actual ratio is less than the configured ratio.

B- The allocation model does not account for powered off virtual machines.

C- The CPU demand in the cluster is less than the total CPU capacity.

D- The CPU demand in the cluster is greater than the total CPU capacity.

Answer: 
D

Question 3
Question Type: MultipleChoice



An administrator has been notified of a critical alert associated with a VMware vCenter cloud account. The alert states that "Objects are

not receiving data from adapter instance". The administrator investigated the problem and resolved the underlying issue. The

administrator now needs to stop the alert from triggering again, unless the problem occurs in the future.

Which alert action should the administrator take to meet the criteria?

Options: 
A- Suspend

B- Cancel Alert

C- Release Ownership

D- Disable the alert in all polices

Answer: 
B

Question 4
Question Type: MultipleChoice



Within a large enterprise IT department, a member of the monitoring team has moved to another role within the operations team. The

administrator's user account was initially assigned the PowerUserMinusRemediation role, but the PowerUser role has now been added

by the helpdesk team following the job change.

Which statement accurately describes the nature of this change?

Options: 
A- The administrator will now be able to complete tasks associated with remediation actions.

B- The administrator will now be able to perform cluster management tasks but unable to complete remediation actions.

C- The administrator will now be able to perform user management tasks and remediation actions.

D- The administrator will remain unable to complete tasks associated with remediation actions.

Answer: 
C

Question 5
Question Type: MultipleChoice



How is Business Intent applied to objects in vRealize Operations?

Options: 
A- Groups

B- Policies

C- Tags

D- Roles

Answer: 
A

Question 6
Question Type: MultipleChoice

An administrator is using the troubleshooting workbench in vRealize Operations for troubleshooting purposes.

Which other vRealize Suite product's data will be shown in this view when the integration is configured?



Options: 
A- vRealize Log Insight

B- vRealize Network Insight

C- vRealize Automation

D- vRealize AI Cloud

Answer: 
B
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